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CPA ADVANCED LEVEL 

ADVANCED MANAGEMENT ACCOUNTING 

WEDNESDAY: 6 December 2023. Afternoon Paper. Time Allowed: 3 hours. 

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your 
workings. Do NOT write anything on this paper. 

QUESTION ONE 
(a) With reference to strategic management accounting, evaluate THREE underpinnings of each of the following

concepts:

(i) Balanced scorecard model. (3 marks) 

(ii) Responsibility accounting. (3 marks) 

(b) “Carbon credits” and “carbon credit tax” are increasingly being applied in environmental management
accounting (EMA) as transparent measurable and result oriented activities aimed at protecting and preventing
environmental degradation by adopting environmental management strategies, policies and compliance
requirements. Carbon credit tax (CCT) is aimed at enhancing compliance. CCT is levied on pollution caused
by carbon emission to the environment. One of the aims of the tax is to discharge organisations from
operating with excessive carbon emission and instead encourage a transition to more sustainable alternatives
by detecting and preventing external costs of environmental management.

Required:
With reference to the above statement, identify THREE benefits that might accrue to an organisation as a
result of implementation of carbon credit strategies and policies towards:

(i) Environmental detection costs. (3 marks) 

(ii) Environmental external failure costs. (3 marks) 

(c) TL Ltd. sells three types of mosquito nets branded Zerofly, Whyfly and Nofly. Product Whyfly is currently
generating profits below target net profit of Sh.750,000.

The following table shows selected data for the three products for the previous year ended 30 June 2023:

Product Zerofly Whyfly Nofly Total 
Selling price per unit (Sh.) 80 20 30 
Contribution margin ratio 20% 10% 60% 
Sales demand in units 50,000 150,000 60,000 
Net profit (Sh.) 490,000 

Additional information: 
1. The above data is expected to remain unchanged if Tsavo Ltd. continues producing all the three

products.
2. The sales manager believes that profits can be increased by dropping Whyfly due to its low

contribution margin ratio and concentrate on the sales of Zerofly and Nofly.
3. The entire workforce used to produce Whyfly will be utilised in the production of Nofly. The labour

mobility is such that 3 units of Whyfly equal 1 unit of Nofly. To increase demand for Nofly, a 10%
price reduction will be allowed next year after dropping Whyfly.

4. Unit fixed cost is Sh.6.5.
5. TL Ltd. prepares statements on marginal costing basis.

Required: 
(i) Prepare a comparative statement of profit or loss before and after dropping Whyfly. (6 marks) 

(ii) Advise the management of TL Ltd. on whether to continue or drop product Whyfly. (2 marks) 
(Total: 20 marks) 
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QUESTION TWO 
(a) Chane Ltd. is considering whether to develop and market a new product. The development cost of the new

product will be Sh.360,000,000.

Additional information:
1. There is a 75% chance that the product development exercise will be successful.
2. The following matrix relates to the new product:

Market state Probability Profit (Sh.“000”) 
Very successful  0.4 1,080,000 
Moderately successful 0.3 200,000 
Failure 0.3 (800,000) 

3. The development cost of Sh.360,000,000 has been accounted for in the calculation of the above
profits and losses.

Required: 
As the Management Accountant of Chane Ltd., advise the management of the company on whether or not to 
develop the new product. (10 marks) 

(b) Scotts Ltd. has experienced stock outs occasioned by the company’s poor inventory estimation techniques.
The company has therefore engaged you to estimate its demand for the year 2024.

The company’s accountant had started using regression analysis and availed the following information to you:
1. The demand for the company’s’ product is dependent on disposable income and price of the

products.
2. The analysis of variances table:

Source Degrees of freedom Sum of squares 
Model 3 187 
Error              9            4 
Total 12 191 

3. The parameter estimates and their errors:
Variable Estimate Standard error 
Constant 1.5 2.000 
Price –1.4 0.1934 
Income 5 0.2700 

Required: 
(i) Develop a regression equation that will be used for prediction. (2 marks) 

(ii) Determine the coefficient of determination. Interpret your result. (4 marks) 

(iii) Test the adequacy of the model for prediction (F tables value 11.56). (4 marks) 
(Total: 20 marks) 

QUESTION THREE 
(a) Evaluate THREE advantages of using simulation analysis in inventory control. (6 marks) 

(b) Kaza Joy is a small manufacturing enterprise that makes only three products X, Y and Z. Data for the month
ended 30 November 2023 is as follows:

X Y Z 
Units produced and sold 12,000 16,000 8,000 

Sh. Sh. Sh. 
Sales price per unit 50 70 60 
Direct material cost per unit 16 24 20 
Direct labour cost per unit 8 12 8 

Product overhead costs Total Cost drivers 
Sh. 

Machining costs 102,000 Machine hours 
Production scheduling 84,000 Number of production runs 
Set up costs 54,000 Number of production runs 
Quality control 49,200 Number of production runs 
Receiving materials 64,800 Number of components receipts 
Packaging materials 36,000 Number of customer orders 
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Information on the cost drivers is given as follows: 
X Y Z 

Direct labour hours per unit 1 1.5 1 
Machine hours per unit 0.5 1 1.5 
Number of components per unit 3 5 8 
Number of component receipts 18 80 64 
Number of customers orders 6 20 10 
Number of production runs 6 16 8 

Required: 
Using activity based budgeting (ABB), compute the cost and gross profit per unit for each products during the 
month.     (14 marks) 

(Total: 20 marks) 

QUESTION FOUR 
(a) Highlight FOUR roles of a management accountant in accounting for environmental costs. (4 marks) 

(b) Discuss the meaning of the following concepts as used in cost estimation:

(i) Economic plausibility tests. (2 marks) 

(ii) Learning curve phenomenon. (2 marks) 

(c) Alumax Ltd. produces a single product branded “Salfa”. The machine used to make Salfa is obsolete and
Alumax Ltd. is contemplating replacing it.

Additional information:
1. The replacement cost of a new machine is Sh.1 million with expected useful life of five years.
2. The machine will have no salvage value after decommissioning it.
3. It is expected that 20,000 units of Salfa will be produced and sold at a transfer price of Sh.300 per

unit over the five year period as follows:
Year 1 2 3 4 5 
Units sold (“000”) 6 5 4 3 2 

4. Variable costs are expected to be Sh.165 per unit produced and sold.
5. The incremental fixed costs, mainly the wages of a maintenance engineer are expected to be

Sh.200,000 per year.
6. Alumax Ltd. uses an imputed interest cost of capital of 13% for the investment appraisal purposes.
7. Depreciation on this machine is calculated on initial cost of the investment at the start of the year.

Required: 
(i) The residual income (RI) for each of the five years. (6 marks) 

(ii) The return on investment (ROI) for each of the five years. (6 marks) 
(Total: 20 marks) 

QUESTION FIVE 
Simplex Group Ltd., manufacturers new patented electric motorcycles. 

The group has two divisions, Robox Division and Safari Division. Robox Division manufactures a “dual electric 
battery” which is the key component for Safari Division. Safari Division is an assembly and distribution division for 
electric motorcycles. Robox Division sells the dual electric batteries to Safari Division and to external customers. 

The following budgeted data is provided for both Robox Division and Safari Division: 

Budgeted data: Robox Division Safari Division 
Sh. Sh. 

Selling price per electricity battery 65,000 
Selling price per motorcycle 300,000 
Variable costs per unit: 
Manufacturing cost per electric battery 47,000 
Assembly cost per motor cycle 105,000 
Fixed cost per annum: 
Fixed manufacturing cost 750,000,000 1,050,000,000 

Units Units 
Production capacity 220,000 electric batteries 
Internal transfers to Safari Division 120,000 electric batteries 
External sales demand 180,000 electric batteries 60,000 motorcycles 
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Additional information: 
1. Safari Division uses two electric batteries manufactured by Robox Division to assemble one motorcycle and

sells motorcycles directly to external customers.
2. Internal transfer price is set at opportunity costs.
3. Robox Division must satisfy the demand of Safari Division before selling the dual electric batteries externally.
4. Safari Division is allowed to purchase dual electric batteries from Robox Division or from external supplies.
5. Safari Division is considering two purchasing options:

Option 1: Buy all the electric batteries it requires from Robox Division
Option 2: Outsource from a cheaper external supplier who has offered to supply all 120,000 electric
batteries at a price of Sh.45,000 electric batteries each to Safari Division.

Required: 
(a) In columnar format, prepare operating statement showing the:

(i) Net profit for each division if Option 1 is adopted. (6 marks) 

(ii) Net profit for each division and Simplex Group Ltd. as a whole if Option 2 is adopted. (6 marks)

(b) Robox Division has received a special order from a new customer for the production of 40,000 electric
batteries. The manager of Robox Division requires an annual target profit for the division amounting to
Sh.6,410,000,000. This order will have no effect on the divisional fixed costs and no impact on the 180,000
electric batteries Robox Division sells to its existing customers.

Calculate the minimum transfer price per electric battery to sell the 40,000 electric batteries to the new
customer that would enable the manager of Robox Division to achieve the target profit.  (4 marks)

(c) Evaluate FOUR non-financial environmental impact overriding factors to consider before accepting
Option 2. (4 marks) 

(Total: 20 marks) 

............................................................................................................... 
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CPA ADVANCED LEVEL 

ADVANCED MANAGEMENT ACCOUNTING 

WEDNESDAY: 23 August 2023. Afternoon Paper. Time Allowed: 3 hours. 

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your 
workings. Do NOT write anything on this paper. 

QUESTION ONE 
(a) Explain TWO benefits of each of the following concepts as used in environmental management accounting:

(i) Environment life cycle costing. (4 marks) 

(ii) Environmental activity-based costing (EABC). (4 marks) 

(b) Motorcar Repairs Ltd is in the process of estimating the fixed cost and variable cost components associated
with the company’s repair activity using the cost estimation equation in the form Y = a + bx, where Y is the
total repair cost, a is the fixed component, b is the variable component and x is the level of repair activity in
hours.

Additional information:
1. Regression analysis performed using MS Excel in a computer yielded the following results:

Summary of output 
Regression statistics 

Parameter   Output 
Multiple R 
R square 
Adjusted R square 
Standard Error 
Observations  

0.984523 
0.969285 
0.961607 

      32.196570 
6 

2. The analysis of variance (ANOVA) output was as follows:

Predictor df SS MS F Significance F 
Regression 
Residual 
Total  

1 
4 
5 

130853.5 
4146.476 
135000 

130853.5 
X 

126.2311 0.000357 

Variable  Coefficients Standard 
error 

t-statistic  P-value Lower 
95% 

Upper 
95% 

Intercept 
Variable X 

509.9119 
29.40529 

45.55789 
2.617232 

Y 
11.23526 

0.000363 
0.000357 

383.4227 
22.13867 

636.4011 
36.6719 

Required: 
(i) The linear regression equation in the form Y = a + bx. (2 marks) 

(ii) Predict the total cost of repair if 14 hours are used. (2 marks) 

(iii) Compute the values of the missing letters X and Y. (4 marks) 

(iv) Explain the explanatory power of the model using the coefficient of determination. (2 marks) 

(v) Explain if the independent variable is economically plausible as a predictor variable. (2 marks) 
(Total: 20 marks) 
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QUESTION TWO 
(a) Summarise FOUR limitations of the Just-In-Time (JIT) inventory system. (4 marks) 

(b) Identify FOUR applications of learning curve model. (4 marks) 

(c) Aloe Vera Group has two operating divisions; Aloe division and Vera division. Aloe division produces a high
quality fabric that is used in making curtains. The budgeted cost per unit of the fabric is made up as follows:

Variable costs: Sh. 
Direct labour 
Direct material  

33     
77 

Marginal cost 110 
Fixed costs: 
Production overheads  100 
Full cost  210 

Additional information: 
1. The budgeted output for Aloe division is 450,000 units each year and the market price for the fabric

is Sh.250 per unit.
2. Vera division makes curtains and uses 1.1 metres of this fabric to make one curtain. The budgeted

output for Vera division is 200,000 units of curtains.
3. The management of Aloe Vera Group insists that Aloe division must sell to Vera division as much

of the fabric as is required to meet its needs and any surplus output can then be sold to external
customers.

4. The management of Aloe Vera Group also insists that Vera Division must buy all its requirements
for this fabric from Aloe division.

5. Vera division sells its output at Sh.310 per unit. In addition to the cost of fabric, it incurs fixed costs
at the rate of Sh.40 per unit of the budgeted output.

Required: 
The budgeted profit for both Aloe division and Vera division, assuming a transfer pricing policy is based on: 

(i) Marginal costing transfer pricing. (6 marks) 

(ii) Market based transfer pricing. (6 marks) 
(Total: 20 marks) 

QUESTION THREE 
(a) Zeta Ltd. manufactures one standard product branded “Boma” and operates a system of variance analysis

using a fixed budget. As the assistant management accountant, you are responsible for preparing the monthly
operating statements.

The budgeted information of product “Boma” for the month ended 31 July 2023 was as follows:

Sh. 
Selling price per unit 880 
Cost per unit: 
Direct material: A (2 kgs at Sh.100 per kg) 200 

B (1 litre at Sh.150 per litre) 150 
Direct labour (3 hours at Sh.90 per hour) 270 
Variable overhead (3 hours at Sh.20 per direct labour hour)   60 

Additional information: 
1. Zeta Ltd. budgeted sales and production for the month of July 2023 was 10,000 units.
2. Annual budgeted fixed overheads were Sh.14,400,000 which are assumed to be incurred evenly

throughout the year.
3. The company uses marginal costing system for internal profit measurement purposes.
4. The actual data for the month of July 2023 were as follows:

Actual production and units sold 9,000 units. 
Selling price Sh.900 
Direct materials consumed: 

A:   19,000 kgs consumed at a cost of  Sh.2,090,000  
B:   10,100 litres consumed at a cost of Sh.1,414,000 

Direct labour incurred 28,500 hours at a cost of Sh.2,736,000 
Variable overheads incurred  Sh.520,000 
Fixed overheads incurred  Sh.1,160,000 
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Required: 
(i) A budgeted profit statement. (2 marks) 

(ii) Actual profit statement. (2 marks) 

(iii) A reconciliation statement of actual profit and budgeted profit. (Show all planning and operating
variances). (8 marks)

(b) Oreq Ltd. is a small-scale company selling take-away sandwiches in a metropolitan town. The company
would like to make a decision on the number of sandwiches to sell at the forthcoming graduation ceremony at
County University. The number of sandwiches sold will depend on three market conditions; poor, fair or
good condition.

The table below details the net profit/(loss) that would be earned for each possible number of the sandwiches
sold:

Net profit/(loss) 
Market conditions Poor  Fair Good  
Probability of market states 30% 40% 30% 
Number of sandwiches sold: Sh. Sh. Sh. 

1,000 
2,000 
3,000 
4,000 

100,000 
0 

(100,000) 
(300,000) 

300,000 
600,000 
700,000 
600,000 

300,000 
600,000 
900,000 

1,200,000 
Required: 
(i) The number of sandwiches to sell to satisfy maximin criterion. (2 marks) 

(ii) The number of sandwiches to sell to satisfy maximax criterion. (2 marks) 

(iii) The number of sandwiches to sell to maximise the expected monetary value (EMV). (2 marks) 

(iv) The maximum amount payable by Oreq Ltd. to acquire perfect information. (2 marks) 
 (Total: 20 marks) 

QUESTION FOUR 
Green Coaches Ltd. is an electric-bus assembly company. The company has received a special order from Transland 
Bus Company to supply 15 executive electric buses for bus rapid transport (BRT) project at a target price of Sh.8 
million per bus. 

Due to the novelty of the project and challenges of learning curve effect, the company wants to analyse three scenarios 
available before accepting the special order. These scenarios are: 

Scenario 1: 
To work overtime and deliver the 15 buses within stipulated period. 

Scenario 2: 
To complete 14 buses using overtime and deliver 1 bus late. 

Scenario 3: 
To assemble and deliver the 13 buses without overtime and deliver 2 buses late. 

Additional information: 
1. The target profit margin is 20% of the target price per bus.
2. The contract allows for 92 working days without overtime for the assembly and delivery of buses and

stipulates a penalty of Sh.1.5 million for each bus delivered late.
3. The time taken to complete the first bus is 10 days.
4. Direct labour cost is Sh.180,000 per day for the normal working days per month and overtime premium rate is

double the normal rate.
5. Overheads will be allocated to the special order at a rate of Sh.30,000 per normal working day and no

overheads will be allocated for overtime working.
6. The management accountant’s estimate of direct material cost per bus is Sh.2,500,000.
7. The learning curve index at 90% learning rate is -0.152.
8. The learning curve model is in the form of Y = ax-b.
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Required: 
(a) Evaluating each scenario, advise the management on the most economical scenario using learning curve

analysis. (12 marks)

(b) Using target costing approach, compute the cost savings of the most economical scenario identified in (a)
above. (4 marks)

(c) Explain FOUR non-financial factors that may have a bearing on the decision for the special order by the
management of Green Coaches Ltd. (4 marks)

(Total: 20 marks)

QUESTION FIVE 
(a) Sanitiza Ltd. sells sanitiser bottles. The company finds that it runs out of stock on occasions and thus loses the

contribution on missed sales. Sanitiza Ltd. works a five-day week for 48 weeks a year. The demand figures
have been analysed for the last 20 weeks.

Additional information:
1. The estimated demand is 60,000 bottles per year.
2. The opportunity cost of running out of stock is Sh.55.
3. The lead-time is 5 days guaranteed.
4. The cost of holding a bottle is Sh.50 per year.
5. The number of orders per annum are 10 orders.
6. The demand figures for the last 20 weeks are as follows:

Sanitiser bottles sold Number of days the level of sales occurred 
150 
200 
250 
300 
350 
400 
450 

7 
14 
35 
35 
28 
14 
7 

7. At present, Sanitiza Ltd. uses a re-order level of 250 sanitiser bottles and does not carry any safety
stock because of the guaranteed delivery time.

Required: 
(i) The optimal safety stock in units. (8 marks) 

(ii) The probability of being out of stock. (2 marks) 

(b) Rona Enterprise manufactures three products namely; A, B and C. The current sales, cost and selling price
details and processing time requirements are as follows:

The standard selling price and standard cost per unit for each product for the period ending 31 August 2023
are as follows:

Product A Product B Product C 
Annual sales (units) 
Selling price (Sh.) 
Unit cost (Sh.) 

6,000 
200 
180 

6,000 
320 
240 

1,000 
400 
300 

Processing time required per unit (hours ) 1 1.5 2 

Additional information: 
1. The firm is working at full capacity of 17,000 processing hours per year.
2. Fixed costs are absorbed into unit cost by a charge of 200% of variable cost.
3. Processing can be switched from one product line to another.
4. The selling prices are not to be altered.
5. Information in respect to the maximum demand for each product which Rona Enterprise could

alternatively outsource from an independent supplier, for the same quality, is given below at current
selling prices:

      Product Expected maximum demand 
(Units) 

Quoted price 
   (Sh.) 

A 
B 
C 

11,000 
  8,000 
  2,000 

175 
240 
320 
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6. In the period commencing 1 September 2022 and ending 31 August 2023, the company budgeted for
production fixed overheads of Sh.2,000,000.

Required: 
(i) Compute the shortfall of the limiting factor. (2 marks) 

(ii) Determine the optimal production mix indicating the products and quantity to outsource from
external supplier. (5 marks)

(iii) Based on your recommendations in (b) (ii) above, determine the net profit for the period
31 August 2023. (3 marks)

(Total: 20 marks)
............................................................................................................... 
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CPA ADVANCED LEVEL 

ADVANCED MANAGEMENT ACCOUNTING 

WEDNESDAY: 26 April 2023. Afternoon Paper. Time Allowed: 3 hours. 

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your 
workings. Do NOT write anything on this paper. 

QUESTION ONE 
(a) Explain TWO advantages of each of the following policies as used in management accounting:

(i) Transfer pricing policy.       (4 marks) 

(ii) Economic value added (EVA).       (4 marks) 

(b) The following information applies to the planned operations of Venus Division of Planet Group for the next
financial year:

   Sh. “000” 
Sales revenue (100,000 units at Sh.120) 12,000 
Variable costs (100,000 units at Sh.80)    (8,000) 
Contribution 4,000 
Fixed costs including depreciation (2,500) 
Net operating profit 1,500 

Venus Division investment (at initial cost) 5,000 

Additional information: 
1. The target rate of return on investment is expected to be 20% per year on written down values (WDVs).
2. Planet Group is organised into profit centres and each centre manager is delegated substantial

autonomy to review its operations.
3. As part of planned review operations, two scenarios are being considered for Venus division as

follows:

Scenario A:
Venus Division to accept a special order of 20,000 units at Sh.100 from Simba Ltd, an external
customer.  Variable costs per unit will be the same as budgeted, but to enable capacity to increase by
20,000 units, additional investment inform of an extra special purpose equipment will be acquired at a
cost of Sh.800,000. The equipment will have a four-year life and the Planet Group depreciates assets on
a straight-line basis. No extra fixed cost will be incurred.

Scenario B:
Included in the current plan of operations of Venus Division is the sale of 20,000 units to Pluto
Division of Planet Group. A competitor of Venus Division from external market has offered to supply
Pluto Division at Sh.110 per unit. Venus Division intends to adopt a strategy of matching the price
quoted from outside Planet Group in order to retain the order.

Required: 
Calculate the annual residual income of Venus Division based on: 

(i) The original planned operation.       (4 marks) 

(ii) Only scenario A added to the original plan.   (4 marks) 

(iii) Only scenario B added to the original plan.       (4 marks) 
     (Total: 20 marks) 

 

www.ch
op

i.c
o.k

e

For Solutions/Answers WhatsApp: 0724 962 477



CA34S3 Page 2 
Out of 4

QUESTION TWO 
(a) The Management Accountant of Floratec Ltd. has attended a brainstorming seminar on Environmental

Management Accounting (EMA) organised to sensitise the management team on strategic goals and policies to
put in place to address various environmental costs.

Required:
For each of the environmental costs below, identify THREE costs to be addressed by the management team:

(i) Environmental internal failure costs.       (3 marks) 

(ii) Environmental external failure costs.       (3 marks) 

(b) Wangwana Growers Ltd., is a large-scale maize growing firm in Western region growing maize for both
domestic and export market. Fred Juma, the Management Accountant, has established that there is a probability
of getting a high, medium or low harvest.  Fred Juma has to decide on the optimum selling price for one bag of
maize and three prices are under consideration.

The selling price per bag of 90 kilograms for different types of customers is as follows:

Sh. 
Wholesale price 
Retail price 
Export price 

5,000 
5,500 
6,000 

The expected number of bags of maize to sell at three price levels for each of the above states of harvest is as 
shown below: 

      Decision alternative 

Selling price per bag Sh.5,000 Sh.5,500 Sh.6,000 

Conditions     Number of bags to be sold 

High harvest 13,000 12,500 8,500 
Medium harvest 10,000         9,000  8,500 
Low harvest  6,000 6,000      3,500 

Additional information: 
1. From past experience, there is a 10% probability that the harvest will be low, a 30% probability that the

harvest will be medium and a 60 % probability that the harvest will be high.
2. The estimated variable cost is Sh.3,000 per bag of 90 kilograms of maize.
3. The fixed cost at each selling price level is Sh.15 million.
4. Fred Juma can engage an agricultural expert to carry out a survey on the productivity of the land, which

will cost him Sh.1 million.

Required: 
(i) A payoff matrix table showing the net profit.       (8 marks) 

(ii) The price to set to maximise the expected monetary value.       (2 marks) 

(iii) Advise Fred Juma whether it is worthwhile to acquire the perfect information from the agricultural
expert.                              (4 marks)

(Total: 20 marks)

QUESTION THREE 
(a) Evaluate THREE objectives of internalised transfer pricing mechanism.       (6 marks) 

(b) Rapsy Stores Ltd. is open 300 days each year. The store outsources and sells a single product branded “Sola”.
There is variability in lead time of each new order placed with the manufacturer, which sometimes lead to stock
outs.

The following data about Sola is available:
1. Annual demand is 15,000 pairs of Sola.
2. The cost price of Sola averages Sh.200 per pair.
3. The fixed ordering cost of requisition is estimated to be Sh.80.
4. For each pair of Sola, annual inventory holding opportunity cost of capital is 13.33% of its cost price.
5. The management has determined economic order quantity based on data given above which should be

used as reorder quantity.
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6. The initial inventory available is 180 pairs of Sola while the reorder level is set at 50 pairs of Sola.
7. The out of stock costs amount to Sh.100 per pair of Sola units that are out of stock.
8. The customer demand is unknown. However, the total usage of Sola over the four days lead time is

expected to be as follows:

Annual demand 
(Pairs of Sola) 

Probability Lead time 
(days) 

Probability 

30 
60 
90 

120 

0.2 
0.3 
0.4 
0.1 

1 
2 
3 
4 

0.15 
0.30 
0.45 
0.10 

9. The random numbers generated by the computer software are as follows:

Annual demand:     4   8   6 1 7 1 9 0 3 8 
Lead time:    28  10 56 

Required: 
(i) The economic order quantity (EOQ).       (2 marks) 

(ii) Simulate the inventory operation for a period of 10 days.     (10 marks) 

(iii) Using the information in (b) (ii) above, estimate the average daily stockholding costs.       (2 marks) 
      (Total: 20 marks) 

QUESTION FOUR 
(a) Explain how each of the following objectives of a balanced scorecard could be measured:

(i) Competitive performance.       (2 marks) 

(ii) Flexibility.       (2 marks) 

(iii) Innovation.       (2 marks) 

(b) Fixit Fabricators Ltd. has been facing a lean financial spell for the past two years. The profit has been declining
steadily and the results of the preceding year showed a loss of Sh.2,000,000. This is the first time the company
has reported a loss in its 10-year history.

The chairman and the board of directors have been deliberating on the remedial steps to implement to arrest the
situation.  Three competing proposals have been suggested by a taskforce set up some months back aimed at
boosting sales and improving efficiency of operations in the current year. As a member of the taskforce, you
have been invited to attend the next board meeting to deliberate on the proposals.

The following information is available: 
1. The target profit for the current year is Sh.4,000,000 regardless of the proposal that will be adopted.
2. The company’s fixed costs currently amount to Sh.20,000,000 per year.
3. The company can sell up to a maximum of 12,000 units of its product in the local market and unlimited

quantities in a neighbouring country. For the sales in the local market, unit variable costs amount to
Sh.5,000, while for the sales in the neighbouring country, an extra Sh.500 per unit is incurred in
transportation expenses.

4. The same transfer price of Sh.10,000 normally prevails both in the local market and neighbouring country.
5. Sales for the past year amounted to 9,000 units, all in the local market.

The main requirements of the three competing proposals are as follows: 

Proposal A:  The Company should improve the quality of packaging of its products at a cost of Sh.500 per 
unit. 

Proposal B: The company should spend Sh.2,000,000 on an advertising campaign. 

Proposal C: The Company should reduce the selling price by Sh.500 per unit. 

Required: 
(i) For proposals A, B, and C, determine the break-even point in the neighbouring country in order to

achieve the target profit.       (9 marks) 

(ii) Summarise FIVE financial factors to consider for proposal C.       (5 marks) 
      (Total: 20 marks) 
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QUESTION FIVE 
(a) Orion Ltd. manufactures three products namely; P, Q and R using broadly the same production methods. A

conventional product costing system is used at present to allocate all overhead costs using total direct labour
hours, although an activity-based budgeting (ABB) system is being considered.

1. Details of the three products for the period is as follows:

Product  P  Q      R 
Annual output (units) 
Annual direct labour hours 
Selling price per unit (Sh.) 
Raw material cost per unit (Sh.) 

2,000 
200,000 

4,000 
400 

1,600 
220,000 

6,000 
600 

     400 
80,000 
8,000 
   900 

2. The annual cost driver volumes relating to each activity and for each type of product are as follows:

Product Number of deliveries to retailers Number of set-ups Number of purchase orders 
     P 
     Q 
     R 

100 
  80 
  70 

  35 
  40 
  25 

400 
300 
100 

250 100 800 

3. The annual costs relating to these activities and their cost drivers are as follows:
Sh. Cost driver 

Deliveries to retailers 
Set-up costs 
Purchase orders   

2,400,000 
6,000,000 
3,600,000 

Number of deliveries to retailers 
Number of set-ups 
Number of orders  

4. All direct labour is paid at a rate of Sh.5 per hour. The company operates on a just in time (JIT) production
policy.

Required: 
(i) Prepare activity based budget statement for the period.       (6 marks)

(ii) Compute the profit or loss per unit for each product.       (4 marks) 

(b) Sofaset Ltd. makes and sells executive leather chairs. The production manager is considering a new design of
sofa set chair to launch into the competitive market in which they operate:

Additional information:
1. The production manager has carried out investigation in the market and using target costing system, he

has targeted a competitive selling price of Sh.120,000 for the chair.
2. Sofaset Ltd. targets a profit margin on selling price of 20%.
3. The design frame will be bought for Sh.51,000 per chair and Sofaset Ltd. will beautify it in leather and

assemble it ready for dispatch.
4. Leather costs Sh.10,000 per meter and two metres are needed for a complete chair although 20% of all

leather is wasted in the beautification process.
5. The beautification and assembly process will be subjected to a learning effect as the workers get used

to the new design. Sofaset Ltd. estimates that the first chair will take two hours to prepare but this will
be subject to learning curve rate of 95%.

6. The learning improvement will stop once 128 chairs have been made and the time for the 128th chair
will be the time for all subsequent chairs. The production manager believes that the target cost will be
achieved from 128 chairs.

7. The cost of labour is Sh.15,000 per direct labour hour.
8. The learning curve index for 95% is -0.074.

Required: 
(i) The average cost for the first 128 chairs made and identify any cost gap that may be present at that

stage.                 (5 marks)

(ii) The cost of the 128th chair made and state whether the target cost is being achieved on the 128th chair.
      (5 marks) 

      (Total: 20 marks) 
............................................................................................................... 
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CPA ADVANCED LEVEL 

ADVANCED MANAGEMENT ACCOUNTING 

WEDNESDAY: 7 December 2022. Afternoon Paper. Time Allowed: 3 hours. 

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your 
workings. Do NOT write anything on this paper. 

QUESTION ONE 
(a) In the context of environmental management accounting, explain FOUR types of environmental costs.

(8 marks) 

(b) Trans Ltd. has provided the following operating statement, which represents an attempt to compare the actual
performance for the quarter which has just ended with the budget:

Number of units sold (“000”) 
Budget 

640 

Sh.“000” 

Actual 
720 

Sh.“000” 

Variance 
80 

Sh.“000” 
Sales 
Cost of sales: 

Direct materials 
Direct labour 
Overheads  

Fixed labour cost 
Selling and distribution costs: 

Fixed 
Variable  

Administrative costs: 
Fixed 
Variables 

Net profit margin 

1,024 

168 
240   

32 
440 
100 

72 
144 

184   
48 

548   
36 

1,071 

144 
288   

36 
468 

94 

83 
153 

176   
54 

560   
43 

47 

24 
(48)  

(4) 
(28) 

6 

(11) 
(9) 

8       
(6) 

(12)  
7 

Required: 
(i) Using flexible budgeting approach, redraft the operating statements so as to provide a more realistic

indication of the variances. (8 marks)

(ii) Discuss TWO problems associated with the forecasting of figures which are to be used in flexible
budgeting.         (4 marks)

(Total: 20 marks)

QUESTION TWO 
(a) Lengo Ltd. is considering marketing a new product. The fixed cost of this product will amount to Sh.5,000,000.

There are three uncertain factors namely; selling price, variable cost and annual sales volume.

The product has a life of only one year and the various possible levels of these factors together with estimated
probabilities are given below:

Selling Price 
       Sh. 

Probability Variable cost 
Sh. 

Probability Annual 
Sales volume 

(units) 

Probability 

       400 
       450 
       500 

0.3 
0.5 
0.2 

200 
250 
300 

0.1 
0.6 
0.3 

40,000 
50,000 
60,000 

      0.4 
      0.5 
      0.1 
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Additional information: 
1. Assume that the three factors are statistically independent.
2. The company uses cost-volume-profit (CVP) analysis to make decisions.
3. The following random numbers are provided:

• Selling price: 8 0 6 1 3 5 1 3 9 1 
• Variable costs: 0 4 3 4 6 7 2 8 5 9 
• Sales volume: 6 3 9 4 0 9 7 6 8 5 

Required 
Using CVP analysis criteria, simulate the problem and determine the average profits. (10 marks) 

(b) Jikaze Ltd. is organised into divisions. Divisional managers are rewarded through a remuneration package
which is linked to accounting rate of return (ARR) performance measures. Venus Division of Jikaze Ltd. is
currently investigating two mutually exclusive investment proposals namely MX and JX. If the proposals are
viable, Venus Division wishes to assign priority in the event that funds may not be available to cover both
proposals.

Details of the two mutually exclusive proposals are:
Investment proposal 

 MX 
 Sh. “000” 

      JX 
 Sh. “000” 

Initial cash outlay on non-current assets 
Net cash inflow: 
Year 1 
Year 2 
Year 3 
Year 4 

192,000 

67,200 
67,200 
67,200 
67,200 

192,000 

32,000 
64,000 
96,000 

128,000 

Additional information: 
1. The management assesses the cost of capital to the company at 16%.
2. The Accounting Rate of Return (ARR) calculation is based on the accounting profit which is computed

by adding back depreciation to net cash inflow of each year.
3. Depreciation is on straight-line basis over the assets’ useful life.
4. Net present value (NPV) method is used to estimate the most viable project when using project life

cycle costing.
5. Ignore tax and residual value.
6. The present value interest factor (PVIF) of the proposal is as follows:

Year  1  2 3  4 
Present value at 16% 0.8621 0.7432 0.6407 0.5523 

Required: 
Advise the management of Jikaze Ltd. on the most viable investment proposal using the following performance 
appraisal measures:  

(i) Product life cycle costing. (5 marks) 

(ii) Accounting rate of return (ARR). (5 marks) 
(Total: 20 marks) 

QUESTION THREE 
(a) The complex environment in which most businesses operate today makes it virtually impossible for most firms

to be controlled centrally. This is because it is not possible for central management to have all the relevant
information and time to determine the detailed plans for all the organisation. Some degree of decentralisation is
essential for all but the smallest firms. Organisations decentralise by creating responsibility centres.

Required:
In the context of the above statement, identify FOUR responsibility centres. (8 marks)

(b) Maono Ltd. is investigating the financial viability of a new product branded “Zem”. Product Zem is a short life
product of six months.

The following estimated information is available in respect of product Zem:

1. Sales should be 10,000 units per month in batches of 100 units on a just-in-time production basis.
2. An average selling price of Sh.120,000 per batch of 100 units is expected for a six-month life cycle.
3. An 80% learning curve will apply for the six months’ life-cycle period.
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4. The labour requirement for the first batch in month 1 will be 500 hours at Sh.500 per hour.
5. Variable overhead will be absorbed at a rate of Sh.200 per labour hour.
6. Direct material input will be Sh.50,000 per batch of product Zem for the first 200 batches. The next

200 batches are expected to cost 90% of the initial batch cost. All batches thereafter will cost 90% of
the batch cost for each of the second 200 batches.

7. Product Zem will incur directly attributable fixed costs of Sh.1,500,000 per month.
8. The initial investment for the new product will be Sh.7,500,000 with no residual value irrespective of

the life of the product.
9. A target cash flow required over the life of the product must be sufficient to provide for a 331/3% target

return for a six-month life cycle.
10. The learning curve formula is Y = axb

Where: Y =  Cumulative average time per batch 
 a  =  time taken to produce initial batch 
 x  =  cumulative units of batches 
 b  =  learning curve index 

Required: 
(i) The learning curve index and model. (4 marks) 

(ii) Compute the cost gap or cost savings in the target cash flow of product Zem over its six-month life
cycle. (8 marks)

(Total: 20 marks)

QUESTION FOUR 
Huruma Ltd. is a client of ABX National Bank.  The Managing Director of Huruma Ltd. visited the bank’s offices to 
seek for an additional line of credit. In the ensuing discussions, the bank credit officer noticed that Huruma Ltd. could 
save a substantial amount of money by improving on its inventory management. 
The credit officer invited the Management Accountant of the company for further consultation.  From the conversation, 
it emerged that the company holds a substantial quantity of a particular raw material in its warehouse.  The Management 
Accountant provided the following information on the raw material: 
Invoice cost per unit 
Shipping charges 
Inventory insurance 
Annual handling and inspection cost of the raw material: 
Warehouse utilities 
Warehouse rental 
Unloading costs for units received (paid to shipper) 
Receiving supervisor’s salary: 
Processing invoices and other purchase documents 

Sh.1,200 
Sh.25 per unit plus Sh.140,000 per shipment 
Sh.10 per unit per year 

Sh.26 per unit plus Sh.150,000 per year 
Sh.9,800 per month 
Sh.115,000 per month 

Sh.8 per unit 
Sh.176,000 per month 
Sh.1,860 per order. 

The company’s policy is to order 5,000 units each time and maintain a safety stock of 3,000 units.  The annual demand 
for the raw material is 45,000 units.  The lead time for an order is 10 working days. 
The Management Accountant has also indicated that if there is a stock-out, it would be necessary to obtain the raw 
material by a special courier service at an additional cost of Sh.81,000 per stock-out. 
The probabilities of a stock-out at various safety stock levels were given as follows: 

Safety stock (units) Probability for stock-out 
500 

1,000 
1,500 
2,000 

0.25 
0.08 
0.02 
0.01 

Additional information: 
1. The company’s cost of capital is 10%.
2. You are advised that there are 250 working days in a year.
3. The raw material is ordered in multiples of 250 units.
4. For analysis purposes, a stock-out probability of 0.02 would be reasonable for order cost determination in an

optimal inventory policy.

Required: 
(a) The annual cost of the company’s present inventory policy. (5 marks) 

(b) Recommend an optimal order quantity for the company based on the information provided. (5 marks) 
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(c) Recommend an optimal safety stock level. (5 marks) 

(d) Advise the management of the firm on the savings to be realised from the optimal order quantity and optimal
safety stock level in (b) and (c) above. (3 marks) 

(e) The reorder level for the company. (2 marks) 
(Total: 20 marks) 

QUESTION FIVE 
(a) Explain THREE conceptual differences between the following concepts as applied in strategic management for

short term decision making:

(i) Throughput accounting. (3 marks) 

(ii) Limiting factor analysis. (3 marks) 

(b) Timiza Ltd. makes spectacles for a variety of customers. The spectacles pass through several production
processes. The first process is fitting and the standard costs for fitting lenses on spectacles are as follows:

Standard cost per unit     Sh. 
Direct material Q 
Direct labour 
Overheads (fixed and variable) 

7 kilograms at Sh.70 per kilogram 
5 hours at Sh.50 per hour 
5 hours at Sh.66 per hour 

490 
250 

         330 
1,070 

Additional information: 
1. The overhead allocation rate is based on direct labour hours and comprises an allowance for both fixed

and variable overhead costs.
2. With the aid of regression analysis, the fixed element of overhead cost has been estimated at Sh.90,000

per week and the variable overhead costs have been estimated at Sh.6 per direct labour hour.
3. The fitting department comprises its own premises, and all of the department’s overhead costs can be

regarded as being the responsibility of divisional managers.
4. In week 5, the division casted 294 spectacles and actual costs incurred were:

 Sh. 
Direct material Q (2,030 kilogram used) 
Direct labour (1,520 hours worked) 
Overhead expenditure  

141,250 
  78,540 
102,000 

5. The 1,520 hours worked by direct labour included 40 hours overtime, which is paid at a rate of 50%
above the normal pay rates.

Required: 
A reconciliation statement of actual cost and the standard cost. (Show all planning and operating variances). 

  (14 marks) 
 (Total: 20 marks) 

............................................................................................................... 
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CPA ADVANCED LEVEL 

ADVANCED MANAGEMENT ACCOUNTING 

WEDNESDAY: 3 August 2022. Afternoon paper. Time Allowed: 3 hours. 

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings. 
Do NOT write anything on this paper. 

QUESTION ONE 
(a) The effective use of the control information provided by the management accounting department of an organisation

to the operating managers depends on various factors.

Explain four actions that the management accounting department might take to enhance the effective use of the
above information by the operating managers. (4 marks)

(b) Describe three negative side effects which might arise from the imposition of budgets by senior management and
propose ways to deal with them. (6 marks)

(c) Many key business performance measures are not effective for most not-for-profit organisations (NPOs). For
instance, the “bottom line” measurement of profit or loss indicates how effective a business is at achieving its goals
of generating profit for the owners.

However, generating profit is not a goal for NPOs. These organisations have no owners, often provide goods and
services to constituents free of charge and typically seek resources from people and organisations that do not expect
economic benefit in return. Thus, the bottom line does not work for NPOs.

Required:
In the context of the above statement, evaluate four factors that make planning for NPOs complex. (8 marks)

(d) Explain the following measures of divisional performance:

(i) Return on capital employed. (1 mark) 

(ii) Residual income. (1 mark) 
(Total: 20 marks) 

QUESTION TWO 
(a) The Diamond division of a retailing group has five years remaining on a lease for premises in which it sells self-

assembly furniture. The management is considering the investment of Sh.600,000 on immediate improvements to the
interior of the premises in order to stimulate sales by creating a more fascinating selling environment.

The following information is available:
1. The forecast of the increase in sales revenue per annum from the premises is as follows:

Year Sales revenue 
Sh.“000” 

2022 700 
2023 600 
2024 500 
2025 400 
2026 300 

2. The average contribution to sales ratio is expected to be 40%.
3. The cost of capital is 16% on the net book values of the investment at the beginning of the year.
4. At the end of the five-year period, the premises improvements will have nil residual value.
5. Depreciation is charged on straight line basis.
6. The Diamond division has a target return on capital employed of 20%.

 

www.ch
op

i.c
o.k

e

For Solutions/Answers WhatsApp: 0724 962 477



CA34S3 Page 2 
Out of 4

Required: 
Prepare summary performance statement for the years 2022 to 2026 showing: 

(i) Residual income (RI). (7 marks) 

(ii) Return on investment (ROI). (7 marks) 

(b) A manufacturing company produces Ball Pens that are printed with logos of various companies. Each pen is priced
at Sh.50. Production costs are as follows:

Cost driver Variable cost per unit Level of cost driver 
Sh. 

Units sold 25 - 
Set ups 225 40 
Engineering hours 10 250 
Other data: 

Total fixed costs (conventional costing) Sh.48,000 
Total fixed costs (activity based costing) Sh.36,500 

Required: 
Compute the break-even point using Activity Based Analysis. (6 marks) 

(Total: 20 marks) 

QUESTION THREE 
(a) Division X is a profit centre which produces four products namely; A, B, C and D. Each product is also sold in the

external market.

The data for the period ended 30 June 2022 is as follows:
Product 

A B C D 
Market price per unit (Sh.) 150 146 140 130 
Variable cost of production per unit (Sh.) 130 100 90 85 
Labour hours required per unit 3 4 2 3 

Additional information: 
1. Product D can be transferred to Division Y, but the maximum quantity that may be required for transfer is

2,500 units only.
2. The maximum sales in the external market are as follows:

Units 
A 2,800 
B 2,500 
C 2,300 
D 1,600 

3. Division Y can purchase the same product at a price of Sh.125 per unit from external suppliers instead of
receiving transfer of product D from Division X.

Required: 
The transfer price for each of the 2,500 units of product D, if the total labour hours available in Division X are 
20,000 hours.      (10 marks) 

(b) A hotel with 50 single rooms is recording 80% occupancy in normal season (8 months) and 50% occupancy in off-
season (4 months) in a year.

The following information is provided:

Annual fixed expenses: Sh. 
Staff salaries (excluding room attendants) 7,500,000 
Repairs and maintenance 2,600,000 
Depreciation on buildings and furniture 2,400,000 
Other fixed expenses like dusting and sweeping         3,250,000 
Total 15,750,000 

Variable expenses (per guest per day): Sh. 
Linen and laundry 300 
Electricity and other facilities 200 
Miscellaneous expenses 250 

The management wishes to realise a profit of 25% on total cost. 

Assume a 30 day month in all cases. 
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Required: 
(i) The required tariff rate per room. (4 marks) 

(ii) The break-even occupancy in normal season assuming 50% occupancy in off-season. (3 marks) 

(iii) The management is proposing a 20% decrease in tariff to improve occupancy at 100% and 70% in normal
season and off-season respectively.

Advise on the appropriateness or otherwise of the above proposal. (3 marks)
(Total: 20 marks)

QUESTION FOUR 
(a) Explain three areas where environmental management accounting (EMA) might be applied. (3 marks) 

(b) Mwamba County water-treatment plant purchases 100 kgs of lime bags for use in the water treatment process. The
number of bags used per day varies on the basis of water consumption. Examination of past records discloses the
following data:

Usage during past re-order period Number of times this quantity was used
Number of bags 

225 9 
300 15 
375 20 
450 3 
525 2 
600 1 

The economic order quantity (EOQ) has been established at 2,500 units with an average daily usage of 25 bags and a 
lead time of 15 days for its single product X. 

Additional information: 
1. Stock-out cost is Sh.300 per bag.
2. The optimum number of orders based on the EOQ model is 6 times per annum.
3. The normal carrying cost is Sh.50 per bag.

Required: 
Advise the management accountant of Mwamba County on the desired level of safety stock in order to minimise the 
total inventory cost. (6 marks) 

(c) Ukunda Ltd. operates a standard marginal cost accounting system. Information relating to product Jipe, which is
made in one of the company’s departments, is given below:

Product Jipe Standard marginal cost per unit 
Sh. 

Direct materials: 6 kgs at Sh.40 per kg 240 
Direct labour: 1 hour at Sh.70 per hour 70 
Variable production overhead   30 

  340 

Additional information: 
1. Variable production overheads vary with units produced.
2. Budgeted fixed production overhead per month amount to Sh.1,000,000.
3. The budgeted production for product Jipe amounted to 20,000 units per month.
4. Actual production and costs for the month of June 2022 were as follows:

Number of units of product Jipe produced 18,500 
Sh. 

Direct materials purchased and used (113,500 kgs) 4,426,500 
Direct labour (17,800 hours) 1,299,400 
Variable production overheads incurred 588,000 
Fixed production overhead incurred 1,040,000 
Actual production cost 7,353,900 
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Required: 
Prepare in columnar form a statement showing: 

(i) Original budget by element of cost. (2 marks) 

(ii) Flexed budget by element of cost. (2 marks) 

(iii) Actual production statement by element of cost. (2 marks) 

(iv) A reconciliation of the actual production cost with the budgeted production cost. (5 marks) 
(Total: 20 marks) 

QUESTION FIVE 
(a) The table below shows Safaris Airline Ltd.’s framework to lay out its balanced scorecard model:

Balanced scorecard 
perspective 

Objectives Measurements Target Initiative 

S1 • Profitability
• More customers

M1 
Seat revenue 

30% profit margin J 

• Fewer planes Plane lease cost 20% customer retention 
5% drop in cost 

S2 • Flight is on time
• Lowest prices

Arrival on time 
M2 

Best ranked Quality management 
customer loyalty 
programme 

S3 • Fast ground
turnaround

On ground time 
On time 
departure  

30 minutes K 

S4 • Ground crew
alignment

% Ground crew 
trained 

Year 1: 70% 
Year 2: 90% 
Year 5: 100% 

- ESOPS
- Ground crew

training

Required: 
(i) Identify the balanced scorecard perspectives S1, S2, S3 and S4 above. (4 marks) 

(ii) For the mentioned perspectives, state one performance measure labelled M1 and M2. (2 marks) 

(iii) Explain initiatives J and K that Safaris Airlines Ltd. should excel in, in order to meet objectives and create
value.  (2 marks)

(b) Moran Ltd. has established the following standard mix of producing 9 litres of product “MRN”:
Sh. 

5 litres of material M at Sh.7 per litre 35 
3 litres of material R at Sh.5 per litre 15 
2 litres of material N at Sh.2 per litre 4 

Actual input was as follows: 
Sh. 

53,000 litres of material M at Sh.7 per litre 371,000 
28,000 litres of material R at Sh.5.30 per litre 148,400 
19,000 litres of material N at Sh.2.20 per litre 41,800 

Additional information: 
1. A standard loss of 10% of the input is expected to occur.
2. Actual output for the period was 92,700 litres of product MRN.

Required: 
Compute and interpret the following variances: 

(i) Material price variance. (3 marks) 

(ii) Material mix variance. (3 marks) 

(iii) Material yield variance. (3 marks) 

(iv) Material usage variance. (3 marks) 
(Total: 20 marks) 

............................................................................................................... 
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CPA ADVANCED LEVEL 

PILOT PAPER 

ADVANCED MANAGEMENT ACCOUNTING 

December 2021.   Time Allowed: 3 hours. 

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings. 

QUESTION ONE 
(a) The following regression equation depicting the cost behavior of factory overheads and machine hours was

developed from 15 pairs of observations using the least – squares method of regression.
F = 12,000 + 40M
Where: F = Total monthly factory costs, and

M = Machine hour per month. 
Regression sum of squares = 41,437,500 
Residual sum of squares = 7,312,500 

Required: 
(i) List the assumptions made in regression analysis to validate inference made on the population.   (4 marks)

(ii) Calculate both the coefficients of determination and correlation and interpret your results.  (4 marks) 

(iii) Determine the 95% confidence interval for the true factory overheads given that 900 machine hours are to
be used during the month. (t value = 2.1604).               (4 marks)

(b) Waka Ltd. reported a pre-tax operating income of Sh.21,000,000 for the year 2019. This was after charging
Sh.4,000,000 for development and launch cost of a new product that is expected to generate profits for 4 years.
Corporation tax is paid at the rate of 30% of the operating profit. The company has a risk-adjusted Weighted Average
Cost of Capital (WACC) of 12% p.a and is paying interest at 9% p.a on a substantial long term loan (not charged
as an expense in the operating income above).

The company’s non-current assets value is Sh. 50,000,000 and the net current assets have a value of Sh. 22,000,000.
The replacement cost of the non-current assets is estimated to be Sh. 64,000,000

Required:
(i) Calculate the company’s economic value added for the period.  (4 marks) 

(ii) Calculate the company’s residual income.      (4 marks) 
 (Total: 20 marks) 

QUESTION TWO 
(a) Evaluate how balanced scorecard may assist in the performance management process.  (6 marks) 

(b) Kenpoly Plastic Recyclers Ltd. has won a 3-year contract to supply a new model of chairs to Minimart Supermarket
for sale.

The following data relate to the cost estimates for the new model of chairs.
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Details    Sh. 
Material cast per chair  250 
Labour cost per hour  80 
Fixed overheads per annum 300,000 
Capital investment 830,000 

Additional information: 
1. The contract requires skilled labour that cannot be increased above the currently available hours. It is

estimated that the available labour time will allow 5,000 chairs to be produced in the first year.
2. The estimated time to produce the first chair is 10 hours.
3. It is estimated that a learning curve effect for labour to produce the chairs will be 85%.
4. The selling price per chair is fixed at Sh.430.
5. Assume that an equilibrium of labour hours in year one will be available in each of the years two and three.
6. All cash flows occur at the end of the year apart from capital investment which occurs at the beginning of

year one.
7. The capital investment has a nil salvage value at the end of the period and the cost of capital is 12%.

Required: 
(i) The net present value of the contract.  Advise the management of Minimart Supermarket on whether to

accept or reject the contract.               (10 marks)

(ii) State other factors that the management of Minimart Supermarket should consider before making the
decision in (i) above.                  (4 marks)

(Total: 20 marks)

QUESTION THREE 
(a) Explain the role of strategic planning in performance management.  (3 marks) 

(b) Amadi hospital is organised into separate medical units offering specialized nursing care services such as maternity
and pediatric services. Information for pediatric unit for 2020 has just been availed. Revenue earned was
Sh. 4.400,000 and patients were charged a fee of Sh.2,000 per patient day for nursing care. The cost of running the
unit consists of variable costs on catering and laundry services.  These are based on the number of patient days spent
in the hospital, direct staffing costs established from personnel requirements applicable to particular levels of patient
days and allocated fixed costs such as security and administration that are based on bed capacity. The bed capacity
currently stands at 80 beds.

The number of beds available for occupation is regarded as bed capacity and which is agreed and held constant for
the whole year. There was an agreement that a bed capacity of 80 would apply to the pediatric for the 365 days of
the year.

The table below shows the variable cost information in the pediatric unit based on patient days in 2020:

 Sh. 
Catering  4,500,000 
Laundry  1,500,000 
Pharmacy 5,000,000 

11,000,000 

Staffing cost: Each specialty recruits its own nurses, supervisors and assistants. The staffing requirements for the 
pediatric unit is on the actual patient days. 

Patient days p.a  Supervisors  Nurses  Assistants 

Upto 20,500 4 10 20 
20,501 – 23,000 4 13 24 
Over 23,000 4 15 28 

The annual costs of employment per employee are: 

Sh. 
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Supervisors 220,000 
Nurses 160,000 
Assistants 120,000 

Fixed costs based on bed capacity are: 

 Sh. 

Administration 8,500,000 
Security 800,000 
Rent and property 7,200,000 

16,500,000 

During the year 2020, the pediatric unit operated at 100% bed capacity for 100 days. In fact, the demand was at least 
20 beds more than the capacity during these days. As a consequence, in the 2021 budget, an increase in bed capacity 
has been agreed. 20 extra beds will be contracted for the whole year. It is assumed that the 100 beds will be fully 
occupied for the 100 days. An increase of 10% in employment costs due to a rise in wage rate is expected to occur 
in 2021 for all personnel. The revenue per patient day, all other cost factors and the remaining occupancy will remain 
the same as 2020. 

Required: 
(i) Determine the actual number of patient days, bed occupancy percentage, net profit or loss and break even

number of patient days for the year 2021.                                          (7 marks)

(ii) Prepare the budget for 2021 showing the revised number of patient days, bed occupancy percentage, net
profit or loss and the number of patient days required to achieve the same profit or loss in 2019.    (8 marks)

(iii) Advice the unit manager based on your findings in b(i) and (ii) above.      (2 marks) 
 (Total: 20 marks) 

QUESTION FOUR 
Ornella distributors are specialists in the distribution of a detergent manufactured by SP Chemicals Ltd. The company buys 
the detergent from SP Chemicals Ltd. at Sh.160 per litre for distribution purposes. However, this has been a controversial 
issue and the management of the company has sought your expert advice on the following stock control policies: 

(a) There is a recommendation by the Managing Director (MD) that applying the economic order quantity (EOQ) model
is the only optimal way of improving the stock holding policy. The company’s annual demand is estimated to be
432,000 litres which the MD assumes to be evenly distributed over 330 working days in a year. The cost of delivery
is estimated to be Sh. 6,000 per order and the annual variable holding cost per litre at Sh. 2.4 plus 1% of the purchase
price. The company’s policy is to order 20,000 litres each time and the lead time for an order is 3 working days.

Required:
(i) Calculate the EOQ, frequency of ordering and any annual cost savings if the company abandons the present

inventory policy for the EOQ model.                           (6 marks)

(ii) The supplier has intimated that he will offer quantity discounts on purchases of quantities above 20,000 as
follows:

20,001 – 37,000 litres  Sh.150 per liter
37,001 litres and above  Sh.140 per litre

Advice the distributor on the most optimal inventory policy.              (4 marks)

(b) The company’s finance director (FD points out that demand within the ten days’ lead time has not been entirely
even over the past year causing stock outs. In case of a stock-out, it would be necessary to obtain the detergent by
a special courier service at an additional cost of Sh.10 per litre. In this regard, he has given the frequency of the lead
time demand over the last year as follows:
Lead time demand per day       Frequency        Probability
(No. of litres)
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1,700 2 0.02 
1,500 10 0.10 
1,400 20 0.20 
1,300 30 0.30 
1,100 25 0.25 
1,000 13 0.13 
Required: 
(i) Assuming that the stock out cost is reliable and that the order quantity will be constant for all the orders

in a year, calculate the safety stock level the company should maintain throughout.           (6 marks)
(ii) Assuming that stock out cost is unreliable but the management have established a service level of 90% that

stock will always be available, calculate the optimal safety stock level.                     (4 marks)
NB: Ignore the supplier’s quantity discount offer. 

 (Total: 20 marks) 
QUESTION FIVE 
Holiday Tours sells tours packages to Dubai through newspaper advertisements.  Tourists are flown each week of the holiday 
season to Dubai where they take a 10-days touring holiday.  The company uses the least squares regression to forecast the 
demand for holidays by locals. 
As the newly employed management accountant of the company, you just found the following regression model to estimate 
the holiday demand per year; Y = 640 + 40t  
Where, Y represents the annual holiday demand and t represents the year. 
The data started with 2011 as year 1. To obtain the weekly holiday demand, the results are divided by 25 holiday weeks in a 
year. 
Required: 
(a) Using the least squares regression model above, estimate the weekly holiday demand for 2019.  (2 marks) 
(b) Identify three weaknesses of the least square regression.  (3 marks) 
(c) The fixed budget and actual cost for the 10-day happy holiday for the year ended 31st December 2021 is given

below:
Details  Fixed budget  Actual  Variance 
Air tickets 2,800,000 2,920,000  120,000 A 
Coach bus hire  100,000  80,000  20,000 F 
Room charges 1,000,000 1,020,000  20,000 A 
Meals  480,000  440,000  40,000 F 
Tour guide charges  360,000  330,000  30,000 F 
Advertising  400,000  350,000  50,000 F 
Total cost    5,140,000  5,140,000       0 
Key:  A represents adverse while F represents favorable results. 
The finance manager availed the following additional information:  
1. Each holiday lasts for 10 days with full accommodation.
2. The return air ticket is Sh.70,000 per passenger on condition that booking is done in batches of 20 seats.
3. The hiring charges for coach bus, tour guide and advertisement are fixed.
4. Meal cost was budgeted at Sh.1,200 per guest per day.
5. Charges for single room was budgeted at Sh.3,500 while for double room at Sh.5,000 per guest per day. Out

of the 38 guests who travelled for the holiday, 4 booked single rooms while 17 booked double rooms.
6. The price of a holiday is Sh.10,000 more if one books a single room.

Required: 
(i) Prepare a flexible budget and identify any resulting variances.      (10 marks) 
(ii) Explain which one between the fixed and flexible budgets is more useful for cost management.      (2 marks) 
(iii) Identify three factors to consider in deciding whether or not to investigate individual variances.      (3 marks) 

 (Total: 20 marks) 
…………………………………………………............. 
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